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Choose the correct answer .

1 1 rotation =

(@) 360° (b) 270° (0 180° (d) 90°
2. Onesecond is denoted by

@ 1 () T CRY (d) 1rad
3. 1=

(& 0.175rad (b) 0.5rad (c) L.5rad (d) none of these
4. 7wrad=

(@ 360° (b) 180° (©) 90° (d) none of these
5 120° =

T T 2r

@ 7 rad (b) > rad (0 3 rad (d) 3 rad
6. Theareaof asector of acicular region of radiusr and central angle 0 radiansis

@ r°0 (b) %rze ©ro (d) %r@
7. Which of the following is a quadrantal angle

(@ 90° (b) 60° (c) 45° (d) 30°
8 adjacent side _

hypotenuse

(@ sin@ (b) cos6O (o) tan6 (d) secO
9 L _

csch

(8 cosH (b) tan6 (c) coto (d) sné
10. 1-sin’0 =

(a) cos?0 (b) sec?0 (0 tan?6 (d) cot?0
11. 1+cot’0 =

(a) cos?0 (b) sec?0 (0 tan?6 (d) csc?0

12. If sin6 > 0 then 6 isin
(@ 1% and 3 quadrant (b) 2™ and 3" quadrant (c) 1 and 2™ quadrant (d) 2™ and 4™ quadrant

13. Cos?20 + Sn?20 =

@o (b) 1 (9-1 (d 2
14. Cot6.Sn0 =

(@ Seco (b) Siné (9 Csch (d) Cosé
15. If SecO < 0and Snf < 0 then O liesin

(a) 1% quadrant (b) 2™ quadrant (c) 3 quadrant (d) 4™ quadrant
16. Cot45’ =

1

(30 (b) /3 © 7 (A1

17. Cosec60’ =
2 1 J3 1

@ 73 (b) 73 © > (d) N

18. Cosbrr =

(@ -1 (b) 0 ©1 @ o
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19.

20.

21.

22.

23.

24,

25.

26.

27.

28.

29.

30.

31

32.

33.

34.

35.
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Through how many radians does the minute hand of a clock turn in one hour
T 3r
@ > (b) 7 () 27 (d) >
What isthe circular measure of the angl e between the hands of awatch at 4 O’ clock
3r T T T
- b) — o) — -
@ > (b) 2 (© 5 (d) 2

The system of measurement in which the angleis measured in radiansis called the
(a circular system (b) sexagesimal system (c) CGS system (d) none of these

Thee system of measurement in which the angleis measured in degrees, minutes, secondsis called the

(a circular system (b) sexagesimal system (c) CGS system (d) none of these

The central angle of an arc of a cdidewhoselength is equal to theradius of the circleis called the
(a) degree (b) radian (c) minute (d) second

The radian measure of the centra angle of an arc 50 m long on acircle of radius 25 mis

1
@3 (b) 1 (92 (d) >
The area of a sector with central angle of 0.5 radians in acircular region whoseradiusis 2mis

T 5 T 2 T 2 2
—m b) —m ) —m Im
@ 5 (b) a © 3 (d)
If Sno :1—2 and terminal sides of the 0 isin 1% quadrant, then Cosf =
5 5
- b) — 00 1
@ 13 (b) 13 © (d)

If Cosf = —g and theterminal side of 6 isin 2™ quadrant, then SiNO =

1 1

1 b) 0 C) —— —
@ (b) (© > (d) >
Domainof Sn20 is
@ [-7,7] (b) [0, 7] (OR (d) [-1.1]
Tan50° =
(@ Sn40° (b) Cos40° (0 Sec4’ (d) Cot40°
cosecd0’ =
(@ sin50° (b) sec50’ (©) sin40’ (d) cos50°
Trigonometry means measurement of
(@ line (b) square (c) hexagon (d) triangle
0 + 2kr where k € Z , isan anglewhich iswith 6
(a) cotermina (b) same (c) equd (d) unique
1+ cot® @ = cosec’d iscaled
(a) 1% identity (b) theorem (c) identity (d) fundamental identity
All trigonometric i dentities are negativein
(@) 1% quadrant (b) 2™ quadrant (c) 3 quadrant (d) none of these
tan270°=
@1 (b) -1 (90 (d) undefined
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